3EBasor

CABLE TRAY SPECIALIST

B e e  SP8 % e,
mm inch mm mm kg b [N o o

$P8 400 400 [1534°| 25 | 8 | 600 |1322| 200559 | 251 o (& . %g
$P8 500 500 |192/3'| 25 | 8 | 6001322 29560 | 296 (.
$P8 600 600 |2358'| 25 | 8 | 600 |1322| 20561 | 34 e L;
$P8 700 700 2759' 2,5 | 8 |540 |1190| 29562 | 385 o
$P8 800 800 311/2'| 2,5 | 8 |464 1022| 29563 | 43 ;
$P8 1000 1000393/8" 25 | 8 |305 | 672 | 209564 | 5,19 Gl E= S|
$P8 1500 1500 59 | 25 | 8 29565 | 7,43 Ls—‘;{m
& 1S07380 M6x25 (2/17582-E7 / 2/17601-1304) + TMAL M6 (2/17556-EZ / 218225-GC / 2/18593-316) sPe
y2 CFBFRA1 (2/10284) /107380 M6x25 (2/17582-£2 / 2/17601304) + SSC (212064-E2 / 210363-GC

200373304 / 2/18553-1316) + TMAL M6 (2/17556-E7 / 218225-GC / 2/18593-316)

3| DIN933 M10x30 (2/17547-1304 / 2/17600-316) + BFE M10 (2/0864-GC / 2/18531-1304 / @
2/18532-316) + TMA41 M10 (2/17584-GC / 2/18525-1304 / 2/17612-i316)

SPD

B e e SPD  SPD4REF e CA 304 i316

mm inch mm mm kg b kg b JEEBMETEIom kg b REE kgud REF kg
SPD300 [300(12"|25| 8 |500{1103| - | - |26251|212]2 |- | - | W W =W =
SPD400 | 400 |16"|2,5| 8 |500({1103| - | - |2/6250| 2,65 | 2 |610|1344/2/18133| 2,53 |2/18467| 2,53
SPD500 | 500 |20"|2,5| 8 |500(1103(1123|2476| 2/6272 | 3,18 | 2 |610|1344/2/18134| 3,03 |2/18468]| 3,03
SPD 600 | 600 | 24" |2,5| 8 430|948 | 950 |2095| 2/5621 | 3,71 | 2 |520(1146/2/18135| 3,54 |2/18469) 3,54
SPD700 | 700 |28'|2,5| 8 |370| 816|823 |1815| 26273 | 4,24 | 2 |450(992|2/18136| 4,04 |2/18470| 4,04
SPD 800 | 800 |32'|2,5| 8 |320( 706 | 726 |1601| 26274 | 4,77 | 2 |390|859 |2/18137| 4,55 |2/18471| 4,55
SPD 1000 |1000|40"|2,5| 8 |260( 574 | 588 |1297| 2/4641 | 5,84 | 2 |320|705|2/18138| 5,57 |2/18472| 5,57
R450 450 | 18" 8 27325\ 177 | - | - | - | - - - - sPD
TF41 PVC (2/5627)
L
7

) 1S07380 M6x25 (2/17582-EZ / 2/17601-i304) + TMAL M6 (2/17556-E7 | 2/8225-GC / 2/18593-1316)

/, CFBFRA1 (2/10284) /1507380 M6x25 (2/17582-E7 / 2/17601-1304) + SSC (2/2064-EZ / 200363-GC »
1 2/0373-304 / 2/18553-1316) + TM41 M6 (2/17556-E7 / 2/8225-GC / 2/18593-1316)
}' ==| DIN933 M10x30 (2/17547-1304 / 2/17600-316) + BFE M10 (2/0864-GC / 2/18531-1304 / ‘ DE
==Y 0/18532-1316) + TM41 M10 (2/17584-GC / 2/18525-1304 / 2/17612-i316) T
R450
TF41
SVP
e L Mmax )
d-lb mm mm inch kg/m R kg/ud E—F ﬁ‘p‘[
SVP 500 2 | 2 500 200 | 409 | 23633 | 126 =
SVP 700 3 | 2| 700 28 | 409 | 25953 | 176
SVP 800 3 | 2|80 | 3 | 409]| 2498 | 198 - ;““
SVP 1000 3 | 2 | 1000 40" | 409 | 26340 | 2,50 et
/’ [E SHU/SHR/SP/SPD + DING33 M10x30 (2/17547-304) + TMA M10 (2/17584-GC) - ::ZTF:
~ ||
¥
. 1 J

B0s | BASORSUPPORT | 11





